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QUESTION 1

What is the difference between Hadoop MapReduce and IBM Adaptive MapReduce feature available in InfoSphere
Biglnsights?

A. Hadoop Map Reduce is optimized for operating on small files or splits, while IBM Adaptive MapReduce is optimized
for operating on largepartitioned files.

B. Hadoop MapReduce is optimized for operating on large files, while IBM Adaptive MapReduce is configurable to
operate optimized on large or small files or splits

C. Hadoop MapReduce is optimized for operating on small files or splits, while IBM Adaptive MapReduce is optimized
for operating on large files stored in individual blocks.

D. Hadoop MapReduce is optimized for operating on small partitioned tables stored in the HBase component, while
IBM? Adaptive MapReduceis optimized for operating on large partitioned files.

Correct Answer: B

QUESTION 2

Which of the following statements should be used to import data from DB2 into InfoSphere Biglnsights?
A. You can use the Big SQL LOAD FROM statement to load data into a Big SQL table.

B. You can use the Big SQL IMPORT FROM statement to load data into a HBase table.

C. You can use the Big SQL LOAD FROM statement to load data into a Hive table.

D. You can use the Big SQL IMPORT FROM statement to load data into a Big SQL table.

Correct Answer: A

QUESTION 3

What are the "Vs"that characterize IBM Big Data initiative?
A. Variety, Versions, Velocity, Volatility

B. Velocity, Volatility, Variety, Veracity

C. Veracity, Variety, Volume, Velocity

D. Volume, Volatility, Velocity, Variety

Correct Answer: C

QUESTION 4
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What is the InfoSphere Biglnsights Credential Store?

A. The InfoSphere Biglnsights credentials store is a table stored in the HBase relational database that stores
passwords, tokens, and other potentially sensitive information.

B. The InfoSphere Biglnsights credentials store is a designated folder on the distributed file system (DFS) that stores
passwords, tokens, and other potentially sensitive information.

C. The InfoSphere Biglnsights credentials store is a designated folder in the local file system (not HDFS) that stores the
authorities and privileges for all users in the Biglnsights environment.

D. The InfoSphere Biglnsights credentials store is a designated file defined by an environment variable that stores the
authorities and privileges for all users in the Biglnsights environment.

Correct Answer: B

QUESTION 5
How is data stored in a Hadoop cluster?

A. The data is divided into blocks, and copies of these blocks are replicated across multiple servers in the Hadoop
cluster.

B. The data converted into a single block, and the block is stored in just one of the servers in the Hadoop cluster.

C. The data is divided into blocks, each block is stored in a different server in the Hadoop cluster, but the blocks are not
replicated.

D. The data is converted into a single block, and copies of this block are replicated across multiple servers in the
Hadoop cluster.

Correct Answer: A
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